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�#� $�%�&�  

'�����(� )�*�� !�+(� 	���!�"�� ������� 	��, -/  

 ��� ��� �	
���
� 

 ( �   	���!�"�� ��
�#� $�%�&� -01�2�20 3��"4 
 5����2�
 $�%�&�� "���6 7��+ 8$�"9�� :4 7�; �< '=>��%? 32�
@>�"A B	�>���/  

(�  -0 ':C�#� :4 D  '���E� FG�4��HI� ���  $�%�&�� �����4D  -�C#�� -�4J�� 1��K"4 1�L�� 	M2��

	�>���/ ������� B	N�"�4  

(�  � 	�2�2O� P>��Q� 	N"�4 1��/ FR#� :4 -0 ��������	��������  1�����2� "STO�D ��2�$*��  	�>���U��'$�%�&(  

����  

1  =I��� V&W
  	�>���U� ��4���#� X�*Y�2�	���� ���  Z!$���� $�%�&�� 	
���
D  @[�#�1 D  ��4*\ 3�M]
��!�"�� �������B	�G&O� ^�!0 �����_ ������� 	�  

2  =I��� V&W
  X�*Y�2�^�"
/ � Z�MYN Z�M\ !$���D  @[�#�2  	M2��
 =���C��� =�T�"��� `������ a�"b� 7
0 :4
=���C� =�T�"� `���� =���$�c�� =���AB  

 ����
1  
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����
 � ������
�
�
�
��
 �����
 �����
 �����  

1 �����  

 ��4���#� -0 	
"d��� �"R60:? e�b�f#� ��$�gh� 	M2��#� F�b��C� � 	�=L ������  .	���!�"�� ������� 	�G&0 ^�!0
 �\�i� -0 j��T a;�D  ��HI��� $���?��D  -�C#�� -�4J���.!!"��� 

��8!�  1�k�� 1�$�! 7\�*��� 	��f#� ��$�gU�� 	
��M#� ��$�gh� =4���*�� l��f��D  7��+	�m�n�4 � 	�G&O�D  $���\�
 .7�C%��� 3o 7S4 '	�G&O� �����4�48$�"9�� : 	N"�4 p*4  *�*+ :4 :C���� ��$�gU� ����b� 	?"2� 	�q0 �����4

7��m :4 U� Z$*m� 7�C%��� 3o �(\�*��� :4 	���E� 	�f&� 5�2$���^�"
/  r������HL%��� 	b�"A.s/ '  
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�C� '5����� 	�G&0 ^�!0 ����=L D -���O� :4 HST $�gU� ����b�� 	��4J�� 72(f�� 	G�(4 ��������  ����b��� ���
 ':C� .	�>��%? 	����T-0 Hc 	���!�"�� 	�G&O� ^�!W
 ������ ��$�gU� ����b� 	
�o 5����2� 1�9�0 a�M��  ����t 	N"�4

 `4 	���!�"�� ��
���� u���� 7?�L���8�v� w(I�� )HL2�&��O�� 5!���#� 8�v� w(I��.(  

� HI��V����� 8�v� w(I�� 	��T"� 	�!�#�  1�HSTaf�  .-�4J��� -�C#�� j���a�M��  u���� 7?�L��� 	
�o��
���� 

� 5����2�	�>���U� @>�"M� `2��
  ��� x�� 	�!�#� �����#� ���� J�����8�v� w(I��  x�� 	�>�
"RC�� �����#� j��T�
.�R��
 ���N �����#� ��� 3
"� x�� u���� 7?�L��� �����?� ��$�gU� l��2 !*+  

� y�
 =�� ���N��4���#�  	4����F�0 :? 	�������� ��������� .������ 	�>���U� @>�"M�� 	T"�%4 	�L�\ j�� "N�� *m� 
 	����f#� $�%�&��
D ! -�v ������.	���!�"�� ������� ��2�$  

2 ���	
��
� �����  

 	��*
 �4/ 	�>��%��� �������� ���� �4 1����c��SC� 	N�������	� =�T�"� `���� 	��! �0 .� 	��! -�C���������� 	N�SC	� $�%#� '
 	4(���
 ��� �R��/p(x)  HI����x =C� 5������ -0 z�{ '��\W HI�#� x  	��mD  |
 "I��� =����#� 7��L��x �x + dx  -�C�

p(x) dx Z��f#� 	��T�"��� `������ 	��! =M��� .F(x)  -0 5������ :4 "I�0 	��m HI�#� �\Wx .80  5��*�� |
 	m(��� -�C�
=�� ��T:  

[ ])()( xF
dx

d
xp =  

�0  

∫=
x

c

ttpxF d)()(  

z��:  

c  ���\W� -0 :C} x�� F�b�� ~!O� *E� =�t.  

��������� F�0 =�� ���N�:  

�   `����=���A =2�c �0B  

�   =���$�c�� `����=���AB  

�  =���$ `����B  

�   =���$�c�� aT"4 `����=���A =���$�B  

�  =4�c�T�& `����� `����) ���$n (=4�c�T���B  

�  =20 `����� �4�c `����B  

�   `����m =4�c�T���B  

�   `����χ2 .-�2H��  

3 �� ������������  

 ��? `������ ��� @�M��	��
 Z$�g/ 8W
 "��f4 HI�4:3o :4 5������ 	N�ST -�C� .  

(1) p(x) = e–T (x) 
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 z��T(x) !�*E� Z!*��4 	��! ���2 Hc 	�&�S�� 	
$*�� :4	 .N 32��#� ������T ������2� ���m  w�"����8$���#� σ -�N '
p(x) Z!���#� 	b�"M��
 a�Ci� 	������:  

(2) 

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

σ
−−

πσ
=

2

2

1
exp

2

1
)(

mx
xp  

)����
�:  

(3) ∫
∞−

⎥
⎦

⎤
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

σ
−+=

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

σ
−−

πσ
=

x

mx
t

mt
xF

2
erf1

2

1
d

2

1
exp

2

1
)(

2

 

:`4  

(4) ∫π
=

z

t
tz

0

– de
2

)(erf
2

 

 	���#� ��MQ� 7S��D   7C%��1  |���*��p(x) �F(x) z�� m 1�"L� 8��f� �σ  8��f�� .��[��� *����� `������ 5�*di�
=���M�� =�T�"��� F(x) D  "��� 7Cg � .w�"G�� �L�� 5�*v� =M��1  |
 7
�b���x �F(x)  y��� F�mx  �0F(x) .	���"b���  

  

v�� 5�*1  

x 1 – F(x) x 1 – F(x) 

0 0,5  1,282 10–1 

1 0,1587 2,326 10–2 

2 0,02275 3,090 10–3 

3 1,350 × 10–3 3,719 10–4 

4 3,167 × 10–5 4,265 10–5 

5 2,867 × 10–7 4,753 10–6 

6 9,866 × 10–10 5,199 10–7 

 5,612 10–8 

  

��
�fE� ��"cO  :C} '	������7�S� F(x)  '	���"b� 5��*
N 1(S� 	��*�� ���� 	������ HI�# 	E��x a
�4 0 �f& WM\ `47m 
 :4(2,8 × 10

−3
):  

(5) 

⎟
⎠
⎞⎜

⎝
⎛ ++π

−=−
51.5339.0661.02

)2/(exp
)(1

2

2

xx

x
xF  

� `������ w!��i�=���M�� �4*�? 1�2�20 �KU� "nO� :? 	��& 	2�$*#� $�*b#� F�m -�C�D  Z*������f4  �R�4 7T '	�>��%?
.1���f& 	���K 	�q0 ���  
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�D  FG�4 -�C� '$�%�&������C��  	�>��J�L�� Z��\W#�D  $���?�� 'Z$*b��)*Rv� �"Ns/ '��Q� �m� '. (����T  	�
�4
0 :C�i� � )����
� '1�2�20 `����
 Z"g��4 7S�i� -=���A .� 7���fi� `������ ��� -�N "\t a&�
 :4D :|��R4 |����  

�  (������) 	M2��#� V���m 5�� �4 $�*b4 ����b� 7�S���B  

�   8!�? =���$�c�� `���� ��? 7�� �>*�? .�4 $�*b4 F��$�c�� 7�S���V�2�$! !"�2 .*�
 ���N  

1��$�� ����� / :? 5�bi� ��MM� ��/ ����n�*�/ p*�	����A z�{ ��$*��� 80 '7S}  `������=���M��  .F�b�f4 3� "SC��
5����2�  Hc ��������� 7�S��� �� ��MMY#� ���	����M��.  

4 ��
���	����� ������ �������  

���$�c��� -�C� a
�4 HI�4 `���� ��	�  `����=���A .� 	N�ST 	��! Z"g��4 a�C& -0 1��/ :C}�������	�  `������ 	��!�
=�T�"��� ��T =��:  

(6) 

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

σ
−−

πσ
=

2
ln

2

1
exp

1

2

1
)(

mx

x
xp  

(7) ⎥
⎦

⎤
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

σ
−+=

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

σ
−−

πσ
= ∫

2

ln
erf1

2

1
d

ln

2

1
exp

1

2

1
)(

2

0

mx
t

mt

t
xF

x

 

-0 Hc m �σ D �q |��!��#� |���  w�"���� 32��#�8$���#�  HI�#� F��$�c���x ����  HI����x V���.  

3��"��  F��$�c���� `���� =���M��D -���O� :4 HST 
 '$�%�&��1�2�20 j��� "�!�b��� #��0 Z$*m 	��f
 �4/ 	M��" Z*g  5��
 �0:4J
 .:? 1�4��? ��� �� �0 Z$*b�� ����2 Z*g 5��� �/ ��f�*��
7'  $�%� j����D  =���M�� `������ �/ -���O� y�


=���A `���� !"� �$���?�
 =���$�c���� .� .5����2�� ��� ���� ��D  	���:4J�� 7���fi� '(��Q� ��"�N 1(S4) 1��>�! 

�� `����=���$�c���� =���M�� 1	��"�  =���M�� HI�#� -O�� .�R���$�c�� ���� 	b�m*�� �0 	�&�S�� 

� -0 �_V� 8��� HI�#� ���b4 ���$�c�� `����=  8!�?V� -�C� 8!�? =���$�c�� `���� 1�9�0 w!��i� `������ ��� -�N 'D   y�

) ��*�# ���E�:4J�� 	
��b#� F�b�� .(N 7���fi� '5�S#� 7��2 ��� `������ �������� 7�S����� �*�4�  5�M�$�M4O�.  

� `������ `4 	&$�b#�
=���M�� `������ -0 $���?� :C} ' =���M�� F�b�� -0 u�� =���$�c����	�!*���  HI����:? 	��& Z*?  ���20
��K Z!"L4 	�q0 ��� ��� :C� '	�"n0 .=L?�9�  

� '=���M�� `������ 1�N(\ -�C� `������ =���M��=���$�c����  z�� :4	��b��  	�!*����"6��� �1� *� ��m0 �/��\ V
�
� . 

N ��fi� x��) 1������ "STO� 	��b��� 	M2��#� 	��b��� 	��b�� 32��4 -�5���#� Z!�? 7C%�� "G&�) 	�n���4 �f�� (1.(  

 8!*��� HI���� ZJ��#� ����C�� -�C��x :=�� ��T  

�  1������ "STO� 	��b��:    exp (m − σ2
)B  

�  :	M2��#� 	��b��      exp (m)B 

�  :	��b�� 32��4      exp m +
⎛

⎝
⎜⎜

⎞

⎠
⎟⎟

σ2

2
B  

�  :`�
"��� 32��4 $�
 	��m   ( )exp m + σ2B  

�   w�"���8$���#�:    ( )exp expm +
⎛

⎝
⎜⎜

⎞

⎠
⎟⎟ −σ σ

2

2

2
1.  
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��%� 7C1  

�� �����	
��
�� 	���������� 	
��
�� ��������  

P.1057-01

–3 –2 –1 0 1 2 3 4 5 6

x

0

0.1
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0.5

0.6

0.7

0.8

0.9

1

p x( ) 

F x( ) 

p x( )

F x( )

0 0 0

  

5 ����� �����  

 ��? =���$ `���� @�M��a
�4 "��f4 HI�4 . `���� !�
� $���?� ���N .=�� ��T =���M�� `������
 =���$ `���� 3��"��
 |�b�f4 :�HI�# !��
O� =>��n =���Ay �z  8$���#� w�"��� �L&� "L� 32��_σ  =>��%��� HI�#� -�C� j�� ��?�x 

��T :=��  

(8) 
22
zyx +=  

 HI���� 1������ "STO� 	��b��� .=���$ `���� =>��%��� HI�#� ��� -�C��x  8��f�σ Vd�#� 5�A `���� =���$ `���� 7S}� .
.FG��4 `���� ��$��AO -�C� x��� r�f��� 	�n���#� ��Rd�#� :4 H�T !*? r��� �� 8���  

�
 =�T�"��� `������ 	��!� 5������ 	N�ST 	��! �M�i�:	M2��  

(9) ⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

σ
−

σ
=

2

2

2 2
exp)(

xx
xp  

 

(10) ⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

σ
−−=

2

2

2
exp1)(

x
xF   

=M���  7C%��2 |��� 	�S40  |���*��p(x) �F(x) � 	L��� F�m �(S�  b. 

������ 

��	
��
��
���� 

�
���
��	
�� 

��
��
�
��
	



����

���� �������

���� �������

����
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%��� 7C2  

	���� �����  

 ����p(x)  ����� ��	
� �
���F(x)  ����
� �
���  

��� ���� � ���
�  b :b =����! "
��!1� #b  = �$�! "
��%&2� 'b  = �()�! "
��%&4 

P.1057-02

x

0

0

0.2

0.4

0.6

0.8

1

1.2

0.5 1 1.5 2 2.5 3 3.5 4

  

  

� F�b�� 7S���HI���� ZJ��#� :=�� ���N  

�  1������ "STO� 	��b��:   

�

√�
B  

�  �M2��� 	��b��:    
�

�
 ln2 ≈ 0.833bB  

�  	��b�� 32��4:    
�

�
	√π		  ≈ 0.886bB  

�   32��4 $�
 	��m:`�
"���  bB  

�   w�"���8$���#�:   ��1 − π
4� ��1 − π

4�   ≈ 0.463b.  

� =���$ `���� 7���fi� �4 1����c7�O� 	Mb& :4 �"b��
 F�b� 80 'x  .	9LY�#��D :-�C� 	��E� ���  

(11) 	�(�) ≈
�

��

�

 

� HfL� :C} 	I���� ��� =>��%��� HI���� -�C� -0 5����� :)���� �[��� ��?X  :4 "I�0 	��mx � ��� `
"4 `4 a2���
 .	��b��N u�#� HI�#� -�T ���V�
"4 -�N '*R
 �"N :? Z$��?  '"\t H���
 .Z$�gU� Z$*m 7S} ��b_� f�*��� Z$*b�� -�N '7�

 	��b
 Pm����dB 10 e�b�f4 	��f� -�T ��/ �4 	N"�# 	���Q� ��� 7���fi� �4 1����c .5������ $�*b# 	��$ 7C� '=���$ `���� 	�
.l��f�� �L& �� -�C� -0 :C} p"\0 ������� -0 	G�(4 a; :C� .	���"b� Z$��
 7mO� ��?  
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�
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:	�g��  b = σ.√2  
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=  ��? ��HI��� 8!�?
 p*#�7��M�� #� ��? ��HI��� =���$ `����� .H�b�� p*� 	�G[��� F�b�� `���� ��? 5��E� F��HI�4 ��"�N�
  -�C� =���$

 VfL& �� (`�
"��� 32��4 $�
 	��m �0) V���m 32��4�� =>��%? HI�4  `���� =���A���$�c��=.  

� 5����2� ¢ ��/m �σ  w�"���� 32��#� 	��f��8$���#�  `������=���M��  ��&�N '8!���� =���$�c���� `������ a���#�
:)���� `������ ��? 7��  
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u

xxF
u d

2
eexp

2

1
)(1

2
22

⎥
⎦

⎤
⎢
⎣

⎡
−−

π
=− σ−

+∞

∞−
∫  

D  w�"��� :? ��i� '	�!��#� ���8$���#� σ  .�������
� ����i�2� ��/σ′ f�*��
 V���m �/ Z$�gh��:���*� -�C� '7�  

 

 σ = 0,115 σ' (13) 

 

|���  7C%��3  w�"��� F�m :4 !*�� `������ ��� 1��&��
 1(�S�8$���#� 'z�� m 1�"L� 8��f�.  

=�� ���N�  F�b�� HI���� ZJ��#�x:  

�  ��1������ "STO� 	��b  HI����x:  ln � �

√�
�B  

�  ���M2��� 	��b  HI����x:    ln	(√	
2)B  

�  	��b�� 32��4  HI����x:    ln	(√�
�
)B  

�   32��4 $�
 	��m`�
"���  HI����x:  0B  

�   w�"��� HI���� 8$���#�x:    ln �√�	�
�

�.  

��*¡ ���  1�2�20 `������D  ��� P>��Q -�C� �4*�? 32��� ��f&�� � �? $�%�&��32���  ��? �� -�R�fi� � ��HI�
 p*#� �*¡ ��T '7��M��D 8HL2�
�"��� $�S�&�� 1(S4.  
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E� A�`D�� dW��	)2( 22 σ+a P"��< A4
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⎞

⎜
⎜

⎝

⎛

σ
=
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2
log10
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XY�
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E�M� ��O P�"b� P"�b *+ A�
XY�
 �	 q�' P�-y P��Wx :P�W��8 (����  
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⎠
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⎜
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⎜
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⎛
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∞
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$ ����� C��4  P�W��8 P��D/J� A�`D�� v�T5' !�b a��{J ������� ��#�1������ &=�J�.  



�������  ITU-R  P.1057-3  

  

10

���� ��4  


������# ��	
� � "�$�% "���&' )�*+� ,���-. ��)"�
+0�� )�*+�� 1  

23��� "!4�
$ 
5�
6��� ("�����  

P.1057-04

1

10

0

–10

–20

–30

–40

–50

1 10 50 80 90 9995 98
5 8 5 885

0.025

0.05

0.075

0.1

0.125

0.15

0.2

0.3

0.4

0.5

99.9 99.99 99.999

0.001

0.01

0.1

  

  

6�,�H$  B
"��W� | %P��"��� o
D������l
�D	 E�4� oM
"�[U� P�E/�
8$ %o
)
E�U� ��l
�D	 B
"��W� |  �\"�� ^�}
 .!�D�E	 d9 P�W��8 ����� �����$ !�D� P�E/�
8 &
' ~,
 A�`D�� vT5h   ��� �1������ &=�J��) `�T� 0,5 p,�D� %

 w�E��$ .����� ����� �8
D� `[ �	 o
�/t/J�h  >8
\�� &=�J� R' �# ��Vh  �N/8 ?
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$ �\�Γ  �	 ,�$' P��4P5�`�� .P�

\��  

$ C�"��	 (�) ������� ��# ab���α $ν ��� .α  P"��	 ~�W >E��FG�"�� l
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α
  

�   K�,LM�I�
��J�:    
v

α
  

$� Pt�tQ�� !�D�� �`) 
	 %k�,_ ���8 �"��,��� ������� �) q�J� �	
���� !��D� ��0 M  ν .�	$  q��� ~,9' P�5
P/�� P��
��� o�`�`"���:  
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⎣
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⎥
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⎡
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E�k�tQ�� `[���� .�WH� ������� `z %$� P�E/�
8!�D ν �� R��� %Pt�tQ `�`"���p�
DJ�  �	 4$`� 4`)
 ���8 
	
� ������� ����$ �$,���k�,_.  
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